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ODPOWIEDZI I SCHEMAT PUNKTOWANIA
CZESC 1T

TASK 5. (11 points)
Za kazde poprawne rozwiazanie przyznajemy 1 punkt. Maksimum 11 punktow.

Item

A

B

C

G

5.1.

5.2.

5.3.

5.4

5.5.

5.6.

5.7.

Item

5.8.

5.9.

5.10.

5.11.

TASK 6. (12 points)
Za kazde poprawne rozwiazanie przyznajemy 1 punkt. Maksimum 12 punktow.

Item

A

B

C

D

6.1.

6.2.

6.3.

6.4

6.5.

6.6.

6.7.
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Przykladowe odpowiedzi:

6.8.
6.9.
6.10.

6.11.
6.12.

It means that the Greeks hope to have the Marbles back although they realise there is
little hope of them coming back. / It suggests a hopeless situation.

The Scottish bagpipers are also no longer truly ‘Scottish’ / have also become empty
symbols.

They became part of English national feeling / tradition / custom.

People who support the cause for returning the Marbles to Greece.

No, he considers the Elgin Marbles an exception, which should not used as precedent
in other cases.

TASK 7. (7 points)
Za kazde poprawne rozwiazanie przyznajemy 1 punkt. Maksimum 7 punktow.

Item A B C D

7.1. X

7.2. X

7.3. X

7.4 X

7.5. X

7.6. X

7.7. X




